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Lampiran 1. Perhitungan pembuktian syarat fungsi Lyapunov 

kuat untuk 𝑬∗ 

𝐿′(𝑆, 𝐼) =
𝑑𝐿

𝑑𝑆
.
𝑑𝑆

𝑑𝑡
+

𝑑𝐿

𝑑𝐼
.
𝑑𝐼

𝑑𝑡
                                                              

      =
𝑑𝑆

𝑑𝑡
− (𝜇3 + 𝜐 + 𝛾) 

(𝜇3 + 𝜐) + (𝜇2 + 𝛿 − 𝜇3 − 𝜐)𝐼

𝛽𝑆 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐
 

−(𝜇3 + 𝜐 + 𝛾)
(𝜇3 + 𝜐)𝑆 + 𝛽𝑆𝐼

𝛽𝑆 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐
+ 𝛽𝑆𝐼 

−(𝜇2 + 𝛿 + 𝛾)𝐼 − 𝐼∗ (𝛽𝑆 − (𝜇2 + 𝛿 + 𝛾))    

=
𝑑𝑆

𝑑𝑡
− (𝜇3 + 𝜐 + 𝛾)

(𝜇3 + 𝜐) − (𝜇3 + 𝜐)𝑆

𝛽𝑆 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐
             

−(𝜇3 + 𝜐 + 𝛾)
(𝜇2 + 𝛿 − 𝜇3 − 𝜐 − 𝛽𝑆)𝐼

𝛽𝑆 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐
        

           +(𝛽𝑆 − (𝜇2 + 𝛿 + 𝛾))𝐼 − 𝐼∗(𝛽𝑆 − (𝜇2 + 𝛿 + 𝛾)) 

      = (𝜇3 + 𝜐) + (𝜇2 + 𝛿 − 𝜇3 − 𝜐)𝐼 − (𝜇3 + 𝜐)𝑆 − 𝛽𝑆𝐼 

                   −(𝜇3 + 𝜐 + 𝛾)
(𝜇3 + 𝜐) − (𝜇3 + 𝜐)𝑆

𝛽𝑆 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐
+ (𝜇3 + 𝜐 + 𝛾)𝐼 

         +𝛽𝑆𝐼 − (𝜇2 + 𝛿 + 𝛾)𝐼 − 𝐼∗(𝛽𝑆 − (𝜇2 + 𝛿 + 𝛾)) 

= (𝜇3 + 𝜐) − (𝜇3 + 𝜐)𝑆 ̇                                                 

−(𝜇3 + 𝜐 + 𝛾)
(𝜇3 + 𝜐) − (𝜇3 + 𝜐)𝑆

𝛽𝑆 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐
            

−𝐼∗(𝛽𝑆 − (𝜇2 + 𝛿 + 𝛾))                                   

              = (𝜇3 + 𝜐)(1 − 𝑆) − (𝜇3 + 𝜐 + 𝛾)
(𝜇3 + 𝜐 − 𝜇3𝑆 − 𝜐𝑆)

𝛽𝑆 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐
 

−𝐼∗(𝛽𝑆 − (𝜇2 + 𝛿 + 𝛾))                                   
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= (𝜇3 + 𝜐)(1 − 𝑆) (1 −
𝜇3 + 𝜐 + 𝛾

𝛽𝑆 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐
)                      

−𝐼∗(𝛽𝑆 − (𝜇2 + 𝛿 + 𝛾))                                                      

= (𝜇3 + 𝜐)(1 − 𝑆) (1 −
𝜇3 + 𝜐 + 𝛾

𝛽𝑆 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐
)                      

−
𝜇3 + 𝜐

(𝜇3 + 𝜐 + 𝛾)(1 − 𝑆∗)(𝛽𝑆 − (𝜇2 + 𝛿 + 𝛾))
                

= (𝜇3 + 𝜐)(1 − 𝑆) (1 −
𝜇3 + 𝜐 + 𝛾

𝛽𝑆 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐
)                      

−
𝜇3 + 𝜐

𝜇3 + 𝜐 + 𝛾
(1 − 𝑆∗)(𝛽𝑆 − 𝛽𝑆∗)                                   

= (𝜇3 + 𝜐)(1 − 𝑆) (
−𝜇2 − 𝛿 + 𝜇3 + 𝜐 + 𝛽𝑆 − 𝜇3 − 𝜐 − 𝛾

−𝜇2 − 𝛿 + 𝜇3 + 𝜐 + 𝛽𝑆
) 

−
𝜇3 + 𝜐

(𝜇3 + 𝜐 + 𝛾)(1 − 𝑆∗)(𝛽𝑆 − 𝛽𝑆∗)
                                

= (𝜇3 + 𝜐)(1 − 𝑆) (
𝛽𝑆 − 𝛽𝑆∗

𝛽𝑆 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐
)                              

−
𝜇3 + 𝜐

𝜇3 + 𝜐 + 𝛾
(1 − 𝑆∗)(𝛽𝑆 − 𝛽𝑆∗)                                     

      = −(𝜇3 + 𝜐)𝛽(𝑆∗ − 𝑆) (
(1 − 𝑆)

𝛽𝑆 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐
−

(1 − 𝑆∗)

𝜇3 + 𝜐 + 𝛾
) 

        = −(𝜇3 + 𝜐)𝛽(𝑆∗ − 𝑆) (
(1−𝑆)

𝛽𝑆−𝜇2−𝛿+𝜇3+𝜐
−

(1−𝑆∗)

𝛽𝑆∗−𝜇2−𝛿+𝜇3+𝜐
)  

= −(𝜇3 + 𝜐)𝛽(𝑆∗ − 𝑆)                                                                    

              (
(𝛽𝑆∗−𝜇2−𝛿+𝜇3+𝜐)(1−𝑆)−(1−𝑆∗)(𝛽𝑆−𝜇2−𝛿+𝜇3+𝜐)

(𝛽𝑆−𝜇2−𝛿+𝜇3+𝜐)(𝛽𝑆∗−𝜇2−𝛿+𝜇3+𝜐)
)  

= −(𝜇3 + 𝜐)𝛽(𝑆∗ − 𝑆)                                                                    

  (
𝛽(𝑆∗ − 𝑆) + (−𝜇2 − 𝛿 + 𝜇3 + 𝜐)(𝑆∗ − 𝑆)

(𝛽𝑆 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐)(𝛽𝑆∗ − 𝜇2 − 𝛿 + 𝜇3 + 𝜐)
)    
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        = −(𝜇3 + 𝜐)𝛽(𝑆∗ − 𝑆) (
(𝑆∗ − 𝑆)(𝛽 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐)

(𝛽𝑆 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐)(𝜇3 + 𝜐 + 𝛾)
) 

=
−(𝜇3 + 𝜐)𝛽

(𝜇3 + 𝜐 + 𝛾)
 (

𝛽 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐

(𝛽𝑆 − 𝜇2 − 𝛿 + 𝜇3 + 𝜐)
) (𝑆∗ − 𝑆)2.      
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